Vimmerby BK
Barometer 2023-02-02

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac Par Poang % Namn MID Klubb
1 10 178 61.81 Evalott Johansson - Mats Johansson 12257 744 Vimmerby BK
2 7 168 58.33 Maritha Jensen - Hakan Fahlstrom 9462 19123  Hultsfred-Malilla BK - Vimmerby BK
3 5 167 57.99 Peter Rosenqvist - Kurt Arvidsson 87389 11825  Ankarsrums Bridgeklubb - Vimmerby BK
3 6 167 57.99 Eva-Lisa Frossberg - Yngve Olsson 23269 9315  Hultsfred-Malilla BK - Eksjo BK
5 12 161 55.90 Kent Hidsj6 - Sven-Arne Svensson 17658 1030 Kisa BS
6 8 160 55.56 Jan-Olof Bengtsson - P&r Alvarsson 18666 8885  Vimmerby BK - Hultsfred-Malilla BK
6 14 160 55.56  Anita Carlsson - Willy Carlsson 746 750 Hultsfred-Malilla BK
8 2 155 53.82 Jonas Hijelte - Kenneth Hagman 88994 748 Kisa BS - Hultsfred-Malilla BK
9 4 142 49.31 Mats Gunnarsson - Kjell Ohlsson 17575 743 Hultsfred-Malilla BK
10 13 134  46.53 Kijell-Ake Johnsson - Par Alvin 43294 10997 Vimmerby BK
11 3 125 43.40 Staffan Forsberg - Lars Stahl 12933 12935 Vimmerby BK
12 1 116 40.28 Else-Britt Lindblom - Kent Séderblom 12362 200317 Kisa BS - Ankarsrums Bridgeklubb
13 9 104  36.11 Mariette Persson - Bjorn Persson 23271 23272  Hultsfred-Malilla BK
14 11 79 27.43  Ulla-Gerd Johnzon - Catherine Fossengen 1289 200314 Vimmerby BK
1 476542 Basta kontrakt 2 » ED65 Basta kontrakt 3 495 Basta kontrakt
Nord vKn9 3v N =140 Ost vK2 3vy OD-1100 Syd vD10 2¢ V =-90
Ingen +E3 NS + KD10943 ov + D942
#E1073 & ¢ v & NT «Kn & ¢ v & NT #Kn10986 & ¢ v & NT
aKn » EK1098 N6 89 66 4 Kn72 & K98 N7 9588 4 Knl1076 4E83 N65655
vD842 v65 S5896 6 vDKn8643 v95 S7 95838 v EK87 v92 S 65656
¢+D962 ¢ Kn7 O75 366 ¢+ Kn ¢ E875 06 4854 + K3 ¢ Kn8765 068777
#Kn942 #K865 V7536F6 #E32 2K765 V64854 »K43 «D72 V68777
«D3 #1043 4 KD42
v EK1073 vE107 v Kn6543
+ K10854 ¢ 62 ¢+ E10
«D #D10984 #E5
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
5 10 2v S+1  &J 140 100 20| 6 9 3vV-1 &T 50 120 00| 8 9 2NV-3 vQ 300 12.0 0.0
6 9 2vS+l1 & 140 100 20| 3 12 4¢ N-1 v9 -100 80 40| 6 11 2v V-2 49 200 100 2.0
7 8 2v S+l 45 140 100 20| 7 8 4¢ N-1 v9 -100 80 40|12 5 24V-1 vQ 100 8.0 4.0
3 12 2vS= a] 110 50 7.0{14 1 3NN-1 v9 -100 80 40| 1 3 1lvS= +3 80 6.0 6.0
11 4 2v S= s] 110 50 7.0(|13 2 2y V= +K -110 40 80| 4 13 2&4N-1 oA -50 3.0 90
14 1 4vS-1 s] -50 20 10.0|11 4 3¢ N-2 v9 -200 20 10.0(14 2 1lvS-1 ] -50 3.0 90
13 2 2¢ S-2 +Q -100 0.0 120| 5 10 3NN-4 v9 -400 0.0 120| 7 10 2¢DO= K -180 0.0 12.0
4 4 E3 Bésta kontrakt 5 4 D5 Bésta kontrakt 6 4 E6 Bésta kontrakt
Vast v 387 4y V =-620 Nord v E932 44 O =-420 Ost v Kn653 ANT N =430
Alla + K962 NS + K105 ov ¢ E4
#D9843 & ¢ v & NT #EK43 & ¢ v & NT *E7654 & ¢ v & NT
4 KKNn975 &2 N36 344 4Kn984 & EK762 N8 7 7 36 4 K52 4 Kn8743 N 108 9 8 10
v K53 vEKNn1096 S 3 6 3 4 4 v76 v KKn85 S 867 36 v42 vED109 S 108 9 8 9
¢Kn1053 +E 09 7 108 9 ¢EB642 ¢3 O56 6 107 ¢ Kn10862 ¢ 53 035453
*2 #EK10765 V 9 7 108 9 #109 «D82 V566 107 «D98 #102 V35453
4 D10864 4103 D109
v D42 vD104 v K87
+ D874 ¢ DKn97 + KD97
#Kn #Kn765 #KKn3
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 2 3NV-1 v8 100 120 00| 8 11 INN= oA 90 120 00| 5 1 3NS+2 +8 460 11.0 1.0
12 5 3v 0= 46 -140 100 20|14 3 34 V= &K -140 100 20|14 3 3NS+2 *9 460 11.0 1.0
4 13 2vO+2 ¢7 -170 70 50| 2 4 24 V+2 #A -170 50 7.0| 8 11 3NS+1 +8 430 8.0 4.0
6 11 3vO+1 ¢4 -170 70 50| 5 1 240+2 +¢Q -170 50 7.0| 2 4 3NS= v4 400 50 7.0
1 3 49 0= *J -620 20 10.0| 7 12 34 V+1 &A -170 50 7.0| 7 12 3NS= +J 400 50 7.0
7 10 4v O = %] -620 20 10.0(|13 6 34 0+1 vQ -170 50 7.0| 9 10 3NS-1 +J -50 1.0 110
8 9 4v 0= 46 -620 20 10.0| 9 10 24 V+3  #A -200 0.0 12.0|13 6 4vy N-1 a4 -50 1.0 110
7 4 K843 Basta kontrakt 8 453 Basta kontrakt 9 4 E83 Basta kontrakt
Syd v3 4v O D -2 500 Vast v 943 44 V =-420 Nord vK2 6¢ N =920
Alla + KKn5 Ingen + K874 ov + EKn64
#KKn972 & ¢ v & NT #Kn873 & ¢ v & NT #KKn109 & ¢ v & NT
aKn 4« ED9752 N9 9469 a4 K42 4Kn10876 N 55 4 3 5 D107 4Kn964 N 1012111011
vK8654 vKn972 S 99469 v K106 vD75 S55 435 v 984 v Kn1075 S 1012111011
¢E102 ¢74 033873 +92 ¢ EDKn5 O8 8 8 108 +D3 ¢ 1087 031231
D653 &4 V33773 #E10652 #4 vV 8 8 8 108 #D6432 &E7 v3ii231
4106 «ED9 & K52
vED10 v EKn82 vED63
+ D9863 41063 + K952
#E108 «KD9 #85
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
6 2 3NS= a] 600 120 00|14 4 INS-1 *2 50 12.0 00| 7 3 3NN+3 «6 490 10.0 2.0
10 11 INS+3 v8 180 100 20| 6 2 INS-2 *5 -100 100 20| 9 1 3NN+3 vJ 490 100 2.0
8 13 3¢ S+1 &) 130 70 50| 1 7 24 0+1 T -140 6.0 6.0/10 13 3NN+3 vJ 490 100 2.0
14 4 3&N+1 w7 130 70 50| 8 13 24 O+1 T -140 6.0 6.0 2 8 BNN+2 44 460 40 8.0
3 5 3vV-l +K 100 40 80|10 11 14 O+2 YA -140 6.0 60| 4 6 3NN+2 vJ 460 40 8.0
1 7 46 S-1 s] -100 20 10.0| 9 12 3¢ O+1 8 -170 20 10.0{14 5 3NN+2 5 460 40 8.0
9 12 3vDV= 3 -730 00 120 3 5 24 0+3 +¢6 -200 0.0 12.0|11 12 2NN+1 43 150 0.0 12.0
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10 4102 Basta kontrakt 11 4 Kn103 Basta kontrakt 12 4 K2 Basta kontrakt
Ost v K103 44 O =-620 Syd v 85 74 V =-1510 Vast v EKn1065 5NT N =660
Alla +108 Ingen ¢ E843 NS + 873
#EKKN943 & ¢ v & NT #Kn1096 » v & NT *D62 LR
«ED96 4 KKn854 N7 3534 D2  EK9754 N 1 300 «E983 4Knl10754 N 8 1
vEKn8 vD97 S73534 vEDKn4 76 S1 301 vD874 v3 s81
¢ E9654 ¢ Kn7 06 9 8 108 ¢ K10952 ¢ - 0 129 9 1311 +Kn42 +¢106 051
*2 «D106 V 6 108 108 *K8 #ED753 V 129 9 1312 *E7 #Kn10953 V 5 1
473 486 « D6
v 6542 v K10932 v K92
¢+ KD32 ¢ DKn76 + EKD95
»875 *42 *K84
Par  Kontr Ut Res Poang Par Kontr Ut Res Par Kontr Res
2 8 340+1 a7 -170 90 30| 5 7 440+1 v2 -450 0O 8 4 3NS+2 48 660 0.0
7 3 340+1 48 -170 9.0 3.0(12 13 44 O+1 #4 -450 0 3 9 4v S+l #A 650 3.0
9 1 340+1 &7 -170 90 3.0 8 4 540+1 8 -480 0(14 6 4vy S+l #A 650 3.0
10 13 34 O+1 &7 -170 90 30|11 1 440+2 ¥9 -480 0({10 2 4vS= *A 620 7.0
4 6 44 0= *5 -620 30 9.0[|14 6 54 0+1 48 -480 0(12 13 4v S= *A 620 7.0
11 12 44 O= ¢+ K -620 30 90| 3 9 3NO+3 vT -490 0 5 7 3¢ S+3 #A 170 0.0
14 5 44 O+1 #8 -650 0.0 12.0|10 2 44 O+3 24 -510 0({11 1 3NS-1 & A -100 2.0
13 &~ K82 Bésta kontrakt 14 s K Bésta kontrakt 15 4 D975 Bésta kontrakt
Nord v432 34 O Ost v EK7632 5v S =450 Syd v 97 4% S =130
Alla + ED2 Ingen + EKn106 NS + EKn10
#D985 & ¢ v & NT *E7 » *D875 * v 4 N
4 EKn 41097653 N 9 7 4 4 5 4E975 4842 N 7 4432 «EKn1086 N 1 557
vE10865 vK97 S97 445 vD v 1085 S7 vEKD53 v 864 S 1 557
¢+ Kn73 4984 044997 + D875 ¢ K32 O 6 ¢ K964  ¢732 O3 77 4
#643 *E V44997 #D985 #K432 VvV 6 *K #109 VvV 3 774
«D4 « DKn1063 +K
v DKn v Kn94 v Kn102
¢ K1065 +94 ¢ D85
#KKn1072 #Kn106 #EKn6432
Par  Kontr Ut Res Poéang Par Kontr Ut Res Par Kontr Res
4 10 34 S-= vA 110 10| 4 10 4v N+2 ¢8 480 0 7 9 3#S+1 ¥vA 130 2 0.0
11 3 2#N+1 vA 110 10(14 7 4vy N+2 ¢2 480 0({10 6 24 0O-2 *A 100 0 2.0
14 7 3v V-1 *5 100 40| 9 5 4y N+1 2 450 0Of 511 3v V-1 *Q 50 6 6.0
6 8 Pass 6.0(13 1 4vy N= 28 420 0({12 4 2v V-1 »5 50 6 6.0
13 1 2vV+1 &5 -140 8.0[11 3 3vyN+2 +¢9 200 0({14 8 2v V-1 5 50 6 6.0
12 2 3vyDV= &5 -730 0012 2 2vy N+2 48 170 0({13 3 4#S-1 vA -100 2 0.0
9 5 34DO+2 &2 -1130 20| 6 8 4vy N-1 a4 -50 0 1 2 3vVs= 5 -140 O 2.0
16 » 106 Basta kontrakt 17 « EKDKNn97 Basta kontrakt 18 » 1064 Basta kontrakt
Vast v KKn965 ANT V =-630 Nord v3 6¢ O D-2300 Ost v EKn 44 O D -2 300
oV + K972 Ingen +10 NS + KD9532
»K10 & ¢ v & NT #Kn8542 * »Kn8 * « N
«KD « EKn84 N3 3443 #83 104 N 1 « EKn987532 &K N 8 4 9
vE842  vD107 S 33443 vE7652 vK9 S1 v7 v KD9632 S 8 4 9
¢ EDKn4 83 0989 8 10 ¢ EK732 #DKn9%54 O 1 +84 ¢ Knl0 05 8 4
*ED9 £7654 vV 109 9 9 10 D £973 AN *64 2KD93 vV 5 8 4
497532 4 652 D
v3 v DKn1084 v 10854
41065 +8 +E76
#Kn832 #EK106 #E10752
Par Kontr Ut Res g Par Kontr Ut Res Par Kontr Res g
5 11 4vyDV-2 T 500 120 00| 1 4 44 N+2 ¢Q 480 0014 9 4v0O-4 *A 200 20 0.0
7 9 3NV-1 v6 100 100 20| 2 3 44N+l  ¢Q 450 50| 6 12 44 V-1 +K 50 8.0 4.0
13 3 3NV= T -600 80 40| 6 12 54 N= vK 450 50| 8 10 44 V-1 ¢+ K 50 80 4.0
12 4 3NV+1 2 -630 6.0 6013 5 44 N+1 ¢Q 450 50(13 5 44 V-1 *J 50 8.0 4.0
1 2 3NV+2 T -660 20 10.0{14 9 44 N+1 ¢Q 450 50 1 4 3a4V-= +K -140 2.0 10.0
10 6 3NV+2 2 -660 20 10.0| 8 10 5¢ V-1 s A 50 00| 2 3 24V+l ¢K -140 2.0 10.0
14 8 3NV +2 v6 -660 20 10.0|11 7 4e V= LY\ -130 2011 7 24 V+1l  ¢5 -140 2.0 10.0
19 « EK104 Bésta kontrakt 20 « E96 Bésta kontrakt 21 #1052 Bésta kontrakt
Syd v542 2NT O =-120 Vast v8 3+ N =110 Nord v EKn7 64 O =-980
oV + 962 Alla ¢ Kn742 NS + KD875
*Kn72 & ¢ v o NT #K10965 & ¢ v &N *D6 * v & NT
462 4 DKn75 N6 6565 + 1032 4 KDKn5 N9 7767 «ED97 4K64 N 0 512
vEKD83 v 1097 S6 6565 v109532 vD7 S97767 v106543 vD SO0 512
+43 ¢ DKn105 O7 7878 ¢ 1065 ¢ ED93 046665 +6 ¢ EKn3 o1 8 1210
#D1093 #E6 V76877 *72 *E84 V46665 *873 #EKKn942 Vv 1 8 1210
4983 4874 « Kn83
v Kn6 v EKKn64 v K982
+ EK87 + K8 410942
*K854 #DKn3 #105
Par  Kontr Ut Res ing Par Kontr Ut Res g Par Kontr Res
2 5 3vV-l oK 100 10 9 11 3¢ 04 vA 400 20 0.0(13 9 3#0+3 T -170 20 0.0
12 8 3v V-1 4K 100 10| 2 5 2vV-2 *Q 200 90 30| 8 1 340+4 T -190 9.0 3.0
7 13 24 N-2 vT -100 40| 3 4 3v0O-2 a7 200 9.0 3.0[10 12 324 0+4 T -190 9.0 3.0
9 11 2v V= *2 -110 6.0(14 10 1vyDS= T 160 6.0 6.0{14 11 3¢+ N-4 vQ -400 6.0 6.0
1 6 3vyVs= LYY -140 80|12 8 3#N+1 &K 130 40 80| 3 6 4aV= ¢+ K -420 40 8.0
3 4 2NO+1 +A -150 110 1 6 24 0-1 v4 100 20 100| 2 7 3NO+2 +T -460 1.0 110
14 10 34 N-3 vT -150 11.0| 7 13 2¢DS-1 &7 200 0.0 120| 4 5 3NO+2 +4 -460 1.0 110
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22 4 Kn8 Basta kontrakt 23 4 DKn73 Basta kontrakt 24 4 KD10 Basta kontrakt

Ost vD107543 7v SD-1-100 Syd v 104 5v V =-650 Vast v 962 7NT N =1520
ov +43 Alla + Kn65 Ingen + EDKn854
#E73 & ¢ v & NT #D932 & ¢ v & NT »5 & ¢ v & NT
& EKD7432 #1096 N9 2 111 6 + K96 4 854 N65267 497542 4 Kn83 N 8 13131013
v Kn82 v- S 8 2 121 6 v8 vKDKn7652 S 6 5 2 6 7 vKn54 ¢73 S 8 13131013
+ Kn72 + KD865 O 4 101 122 ¢ EK109 73 O6 7 117 6 + 107 2 050020
»- #Kn10542 V 3 101 122 &#EKE54 &7 V6 7 117 6 »864 #KKn109732 V5 0 0 2 O
a5 « E102 4 E6
v EK96 vE93 v EKD108
+ E109 + D842 + K963
#KD986 #Kn108 *ED
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 5 5y N+1 T 480 120 00| 5 6 6NDV-4 ¢J 1100 120 00| 5 6 7NS= +4 1520 12.0 0.0
3 6 5vN= aT 450 90 30| 9 2 2v0+3 &2 -200 90 30| 3 8 7¢ N= 48 1440 9.0 3.0
10 12 4v N+1 T 450 90 30|14 12 3y O+2 ¢2 -200 90 30| 4 7 7¢ N= v7 1440 9.0 3.0
14 11 44DV-1 &A 200 6.0 6.0 1 10 4vO+1 ¢2 -650 30 90| 1 10 6NS+1 «4 1020 50 7.0
8 1 34V+3 A -230 40 80| 3 8 4v O+l &A -650 30 90| 9 2 6NS+1 6 1020 50 7.0
13 9 54DS-3 #A -500 20 100| 4 7 4vy O+1 aA -650 30 90|14 12 6¢ N+1 43 940 2.0 10.0
2 7 6aDV= &A -1660 0.0 12.0(11 13 4vy O+1 &A -650 3.0 90|11 13 3NS+4 L X} 520 0.0 12.0
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